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3 2 2
3.2
STEP2 STEP3 STEP2-2
STEP10 STEP11

STEP2-2. %5 % ) (Yo V)
{F(x,y,) f(x,,y,)<0
f(x,y,) f(x,,y,)<0}
{9(X,¥,)-9(X,,y,) <0

9(X,¥,)-9(X,,Y,) <0}

STEP3 STEP10
STEP10. y,,Y, STEP2-2
(ymax—ll ymax)
STEP11
STEP11. X, X, STEP2-2
(Xmax—l ! Xmax )
X y (-5.,5)
0.25
50
1
5 1
1
1 15
2 30
3 20
4 25
5 18
5
3
[ 1

35

(2002.12) pp67-70

[ 1]

Goal Seek 38

(2005.12) pp75-78

[ 1] 2
40
(2007.12)
[ 1] 2
40
(2007.12)
1 3

1 f3 f4 g3 g4 double

2 1 Do-Loop
xUp = xLow + xKukan
Range(UserForm1.Variablel
.Value).Value = xUp

yLow =j

yUp = yLow + yKukan

Range(UserForm1l.Variablel
.Value).Value = xLow

Range(UserForm1l.Variable2
.Value).Value = yLow

f1 = Range(UserForml1
.FormulaCelll.Value).Value

gl = Range(UserForml
.FormulaCell2.Value).Value

Range(UserForm1.Variable2
.Value).Value = yUp

f3 = Range(UserForml
.FormulaCelll.Value).Value

03 = Range(UserForml1
.FormulaCell2.Value).Value

Range(UserForm1l.Variablel
.Value).Value = xUp

f2 = Range(UserForml1
.FormulaCelll.Value).Value

g2 = Range(UserForml
.FormulaCell2.VValue).Value

Range(UserForm1.Variable2
.Value).Value = yLow

f4 = Range(UserForml
.FormulaCelll.Value).Value

g4 = Range(UserForml
.FormulaCell2.Value).Value

If ((f1 * f2 <= 0) Or (f3 * f4 <= 0))
And ((gl * g2 <=0) Or

(g3 * g4 <=0)) Then

3 Nextj End If



